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1.4 Midpoint of A(2,0), B(0,2) is: {A) ©,2) {®) (2,0) (c) (2,2) 0 LD
2. The ___pointsatisiesx +2y <6 (A (4,1) B) 31 (cl (1.3) (0} (1,4
3 Inaconic, the ratio of the distance : Y
from a fixed point to the distance ) Focus ® Vertex © .- Ecenfricty [ Cens
from a fixed line is:
: 225 5,2' X2 y?
4. Standard equation of Parabola is: W y*=dax B x2+y?2=a* [ =-==1 0 =+==1
: a? b2 a? h?
5 Equation of tangent to circle W oxy+yy=a® B - yj;l =2 [ xp+tym=d 0 wy-yn=d
x* 4+ v = a at P(xq,y,) i8: : s & -
6.  Thevolumeof paraliclopiped=___. (A (uxv).@ B (@xwxw O ux@xw) . X (uxv)
7. The non-zero vectors are ' " w1 ) L] =1 M. wp=0 ' # 0
perpendicular when: o R '
B jxk=__ . 0] i m = =i (© . g
9.  Therangeof f(x) = 2 +Vx—~1is: [1,+0) . (@ [240) . (0 (lﬁ {0 (2, +)
10. The perimeter P of square as a it : SV’Z B WA . o) /A
function of ifs area A: . S Ty
M) = L ten f3) = = 0 2
f)=Sthenf(3)=_____. il >7 0) >
12 Wf(c) =0&f"(c) > 0thenCis 0 Inflection 0 Constant
point of: gL )
d 1 =1
13 — = : - ) —_
Flos=— M - U S
14 d 2 2 .
o= (catax)=___. a cosectax € —acosec’tax [} —acosecax
x
1
f5. J’ —— dx = " d x+ B Cos x4+ ¢ —Sin"lx+c [P —Cos7'x+e¢
e Q c @ © : )
1 1 1 .
16. - = , A — —— D) o
5 fxdx . ) Inx +¢ B s+cC (€ xz-l-c D) x+c
7. The solution nt ation
dy . N y=xe™ y=ce™ C) y=e* 0) y = ce®
o=y
1 2 3
F T T T
B e gy = = C e
B J = 0 i B - 0 . o n
4}
x — intercept of the line 1 1
1. _ m 2 B 3 o - (] =
2x+5y—-1=0is: 2 5
20.  Slope of y — axis is. (A 0 8 1 (€) =1 0}  Undefined
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. SECTION-I
2. Write short answers of any eight parts from the following: (8::2=16)
i Hf(x)=2x+1thenfind fof (x). ii. Express the area A of a circle as a function of its circumference C.
iil.  Evaluate lim EE'—J’? iv.  Define continuous function.
2 i 2 i
V. Differenste (Vx — ) w.r.t x vi. FindZify? —xy =2 +4=0
vii. Differentiate x*secdxw.r.t x vii.  Differentiate sin2xw.r.t. cos*x .
ix. Find fGo)if f (x) = e*(1 + Inx) x. Findy,if y = In(x*-9)
. P - . i ; ; : h nom
xi. Provethatin(l+x) = x~ -t A Determine he interval in which f(x) = cosx isidetieasig; x € (-- =i E)'
3. Write short answers of any eight parts from the following: _ ' (842=16)

vii.

viil.

Xi.

Xil.

vil.

Solve the differential equation sec? x tan y dx + sec*ytanx dy = 0

Find the area between x — axis and the cuve y = x2 + Lfiomx = 1tox F20 B

Evaluate: 7 [ ») o’
veluate f % Inx dx -~ Evauatedheintegral | ﬂ_f% dx
. 1 e . -.' -
. 5 ‘ &) s <
Evaluate: [ (v - %) dx Vi, Evaluate the integral [ (a = 2¢) /2 dx

Find the approximate change in the volume 0fa,cube if legth of its each edge changes from 510 5.02.
Show that the points A(0, 2), B_(\f3_, —ljaﬁd € (0, —2) are vertices of a right triangie.

Convert the equation of line, 4 -g’ll_?y"-—{z = ( into normal form.

Fine the angle from thedine wi?:i; slope —;—7 to the line with slope—:; ;

Find the paiFofilinesreprésented by 3x? + 7xy + 2y* = 0.

Find the poiat of intersection of lines 3x + y + 12 =0andx +2y —1=0.

Write short answers of any nine parts from the following: (9x2=18)

Define feasible region. ii.  Graph the solution set of in-equality 3x + 7y 2 21.

Find equation of circle with ends of diameter at (3, 2) and (5, —6) .

Write down equation of tangent to the circle x? + y* = 25at (5 cos8 , 5 sinf)
Find focus and vertex of Parabola x2 = 4(y —1)  Vi. Find equation of elipse with data Foci (13, 0) Minor axis of length 10.

Find center of hyperbolax? — y* 4+ 8x — 2y — 10 =0

A



viil,

Xil.

xiil,

Note
5.(a)

RWIr-1-7

Find equation of Normal to y? = 4ax at (at?, 2at).

Find the sum of vector AB and CD given four points A(1, -1)B(2,0)C(-1,3)and D(-2,2)

Find e, s0 tﬁati o i+ (o +1)j + 2k|=3 Xii.  If v is a vector for which v. | = 0v.j = 0v.k = 0, find
Find the area of triangle determined by the points P(0,0,0) Q(2,3,2) and R(—1,1,4)
Find the value of 2 x 2J. k

| SECTION-I

Attempt any three questions. Each question carries equal marks:

Find the values of m and n, so that given function f ; mx, ifx<3
is continuous atx = 3 when flx) = n, {ifx =3
=2x+9, fx>3
o dy _a(l-t3) 2bt
Find - when x = SV = ha

Ify = (cos™x)?, prove that (1 — x?)y, — xy; =2 = 0.
Evaluate the integral [ e*sinx cdsx_ dx.

i ; : ay _ o, : f:_z
Solve the differential equation y — x T (1 +x dx)'

Gfaph the feasible region and corner points of the inequalitie‘s” h
2x1—y-510_: x+4y512:x+2y510:

* Show that the circles: x2 + y? + 2x ~ 8 = 0; 2 + y*#& 62t 6y — 46 = 0 fouch internally.

Using vector method, for any triangle ABC, prove that: 62 = a? + b2 — 2ab cosC.
Find the focus, vertex and directrix of the Parabola; x* = 4(y — 1)

Find the lines represented by 3x? FiZxyisk 2y? = 0 and also find measure of the angle between them.
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